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mix | R |moA| me | gn | mien 2o B | R | wee| T | =Y
1 |kl 46 | 3NT | = | 400 | 4t | 3NT | = | 400
2 |&Eit]| = 4H | +2 | 680 | 7 6H = | 1430 13
3 |F&AE| 4t 4S = | 420 | 4t | 3NT | -4 | 200 | 12
4 |wa| &8 | 3NT | +3 | 690 | 4t | 3NT | +3 | 690
5 |kl & | 3NT | +2 | 660 | B | 3NT | -1 | -100 | 13
6 |FHm| 4t | 3NT | +12 | 430 | 4t | 3NT | +1 | 430
7 | WE/ LL PAS 7 INT | -1 | 100 3
8 |WE| &= | 3NT | +2 | -430 | Z® | 3NT | = | -400
9 |FAE| = 5C = | 400 | & 5D | +1 | 420 1
10 | WBE| & 6S = |-1430| & 6S = |-1430
11 | WE| & 4s | +1 | 450 | 4t 4H | +1 | 450
12 | &b & 2H = | 120 | & 4D | 50 2

DATUMtit L
EMER EERE Z. 5 ] 27 | 18

BT 16 SAKEEE 4 &it 27 | 18
BT R/MB(EEE -4 FELT /1T BN -16 V.P. 129 | 71
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mix | R |moA| me | gn | mien 2o B | R | wee| T | =Y
1 NTo it 3NT = 400 [£3] 3NT -2 -100 11
2 [E2ple [ri] 5Cx -5 1100 [£3] 4S +2 680 9
3 | &AL dt 3S = 140 1t 4S = 420 7
4 E=] [£3] 3NT +2 660 1t 4H +1 650
5 2] ¢ it 4S -3 -300 [£3] 3NT -1 -100 5
6 =] 1t 3NT +1 430 1t 3NT +1 430
7 =] [ri] INT -2 200 [ri] INT -1 100 3
8 T x 3NT +1 -430 x 3NT +2 -460
9 panyiic] it 4D +1 150 [£3] 6D -1 -50 5
10 | \WH/ x 6S = -1430 [ri] 4S +2 -680 13
11 | X it 4H = 420 [£3] 4S +1 450
12 | ik [ri] 3NT +1 -430 x 3D = -110 8
DATUMEit e
2T ARLES v S+ ] 29 | 34
SER/ XU -18 AE)E/RKEE -14 ait 29 | 34
(IEE/X/NE 14 A NN S 18 V.P. 83 | 11.7
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mix | R |moA| me | gn | mien 2o B | R | wee| T | =Y
1 NTo it 3SNT = 400 it 3NT = 400
> |t | en | = | 1430| % | s5H | +1 | es0 | 13
3 panyiic] [£3] INT +3 180 [£3] INT +3 180
4 =] [£3] 3SNT +2 660 [£3] 3SNT +2 660
5 |gdt| dt [ 3NTx | = 750 3] 3C = 110 12
6 =] [£3] 3SNT +1 430 1t INT +4 210
4 =] x INT -1 100 x INT = -90 5
8 T x 3SNT +2 -460 x 3SNT +1 -430 1
9 panyiic] [ri] 5Hx -1 200 it 4Sx -3 -500 12
10 | W&/ x 6S = -1430 x 6S = -1430
11 | X [£3] 4S = 420 [£3] 4S +1 450 1
12 | ik x 3D = -110 [£3] 3H -1 -100
DATUM%SEit e
EkiahiE I MLTHR v, 3] 48 2
ZH/ELE 18 BLKIE/RINGR -34 it 48 2
pUEVEIE50 34 ENXE/SEL -18 V.P. 19.44 | 0.56
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B EEag BT B
it . A& R CERE 1t : PR R EEX
& pEX 7 - I e — 7
mix | R |moA| me | gn | mien 2o B | R | wee| T | =Y
1 NTo it 3NT = 400 it 3C -1 -50 10
2 [E2pe [£3] 3SNT +1 630 [£3] oH = 1430 13
3 panyiic] [£3] 3S +1 170 [£3] INT +2 150 1
4 E=] [£3] 3SNT +1 630 [£3] 3SNT +3 690
5 2] d [£3] 3NT -1 -100 x 2SX -2 300
6 =] 1t 3SNT +1 430 1t 3SNT +1 430
4 =] [ri] INT -1 100 [ri] INT = -90 5
8 NTo x 3SNT +2 -460 x 2D +1 -110 8
9 panyiic] [ri] 4H -1 100 it 4Sx +1 690 11
10 | W&/ x 6S = -1430 x 6S = -1430
11 | X [£3] 4S +1 450 [£3] 4S = 420 1
12 | @ik [£3] 2H = 110 x 3D -1 50 2
DATUM%SEit e
G, A EaFiTH1ba) v, 3] 19 | 43
A EfEIERE 16 FERRE AL/ Bt 17 Aait 19 | 43
mEX/ml s 17 WCIEFRE/SRF1E 16 V.P. 3.63 | 16.37
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mix | R |moA| me | gn | mien 2o B | R | wee| T | =Y
1 |wxE| 46 | anT | = | 400 | 4t [ anT | 2 | -100 | 12
> |mt] 4 | eH | = [ 1430 ®m | eH | = | 1430
3 |Z&®A]| dt 3s +1 | 170 E3] AINT | = 90 2
4 |wal & |anT| = | 600 | & | anT | +3 | 690 3
5 |mdt] = | 2sx | 2 | 300 | & | anT | = | 600
6 |zx#E| 4t | aNT | +1 | 430 | & | 3NT | +1 | 430
7 |wsl & | iNT | 2 | 200 LL PAS 5
8 |wx| &= | aNnT | +2 | 460 | %= | 3nNT | +1 | 430 1
o |#z#EE| & | 4Hx | 2 | 200 | & | sc | = | 400 5
10 |wa| &= | 6s | = |-1430| & | ecx | -4 |-1100 8
11 |wx| & | 45 | = | 420 | 4t | 4H | +1 | 450 1
12 gt &8 | 3Hx | -2 | 200 & | 30 | -1 | s0 6
DATUM&it iAEE
["&HF& FYErE r. X+ 18 | 31
skIP=/3LARA8 8 R E/RE= 20 ait 18 | 31
EEE/ATERK  -20 XUSR/ERRR -8 V.P. 6.03 | 13.97




